TR29FE F2FRH/PMPRERESHRXHBES (FRIGREV2—)

(ER29F9A~FMI0ET1A)

<UXA DE > (B~ M)
18 H i OF K IR A % WA X F & i =
1 FREBE 101,662,980 99,795,550 1,867,430
1 INERIABRE 98,983,670 98,599,230 384,440
2 REBIGHEE 440,060 440,060 0
3 B ZMHKRELE 795,140 685,760 109,380
4 BEESKRELE 1,444 110 70,500 1,373,610
5 FHHRIERE 0 0 0
6 FNith — — —
2 RBELE 76,560 76,560 0
1 PTAZFHEBRE 76,560 76,560 0| 1E=EHE-E~3198 51
3 BHE 5,750,321 5,750,321 0
1 AP HREH S 5,750,321 5,750,321 0
2 RIFEREE — — —
4 FIRA 63,500 63,500 0
1 RHAEE 63,500 63,500 0| %3 60,000/, EEHR—)L 3500/
2 Dt — — —
a8 at 107,553,361 105,685,931 1,867,430
<ZHDE>
18 B X HREH X W & X % i =
1 BEHMHE 106,906,305 100,155,715 6,750,590
1 IB8 17,368,941 15,508,769 1,860,172|%- /3> -5 £ %
2 ElBE 89,537,364 84,646,946 4,890 418|435 KE%E
a at 106,906,305 100,155,715 6,750,590
IR AFREE 105,685,931 H
X KR 100,155,715 H
-E515ES 5,530,216 A FR29FEEIFAEET R
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(Fr29% 98 ~FE/MI30FE1H)

<IR A D & > (B F)
18 H A OE %8 R A 2 | IR Ak F & i =
1 PRIEEE 57,149,608 56,163,640 985,968
1 PRGBS 55,130,120 54,914,120 216,000
2 FIBBIKBE 742,520 742,520 0
3 HI(1)FHKFLE 556,800 507,000 49,800
4 BEEFEFRKEE 720,168 0 720,168
5 #H/RIB%E 0 0 0
6 FDith — — —
2 RBLE 4,760 4,760 0
1 PTAZHBSE 4,760 4,760 O|1EIEME 1725
3 BHE 2,874,101 2,874,101 0
1 FIEEREHS 2,874,101 2,874,101 0
2 BIEEZHE — — —
4 A 56,829 56,829 0
1 BHRKEE 56,829 56,829 0|/ 53,700 E8R—)L.3,129[
2 ZMih 0
& it 60,085,298 59,099,330 985,968
<% HoOEH>
15 E X HREBE| X 4+ % * i %A I =
1 REMHE 59,829,485 56,310,808 3,518,677
1 IBE 9,306,581 8,248,740 1,057,841k /8> -3t £
2 ElBE 50,522,904 48,062,068 2,460,836 3K e%
& 59,829,485 56,310,808 3,518,677
- IR A ¥ & 59,099,330 M
- T HEE 56,310,808 M
- =5 B 5 2,788,522 M FR290FEEIFH Lt~ B




